Bitspower®

fc &
% MSI 2270 XPOWER GAMING TITANIUM 23
(1) BP-WBMMZ270X 14
(@ 10 mrEmsA 4K
(3@ BBzEI 4R
(@ crPustRBA 1R
% (B) crPuBBEBA 1A
‘ (® CPUEBEIR 1A
\%\ @ M3x10 Ekems 4%
RGBileADER M2x8.5 ZKiE#4 4%
~

Accessories
Designed for MSI Z270 XPOWER GAMING TITANIUM

(1) BP-WBMMZ270X 1SET
(2 1.0 mm Thermal Pad 4 PCS
(3 Washer With Gum 4PCS
(@ CPU Back Pad 1PCS
(8) CPU Paste Pad 1PCS
(6) CPU Metal Backplate 1PCS
@ M3x10 mm Screw 4 PCS
6 M2x8.5 mm Screw 4 PCS
fc &
%} MSI Z270 XPOWER GAMING TITANIUM igit
(1) BP-WBMMZ270X 14
(@ 10 =KSHRBA 4R
(3 BRET 4R
(@ cpumtREA 1A
B CPUBRESZA 1A
) (6) CPUEEER 1A
- (@) M3x10 kg 4%
M2x8.5 S5k iR 4 4%



Bitspower’

ERENIERERUE
(] assmens
B 1 MmEsE s

ER - BKAT - AEERASHEREAERNIEE - £RMIH - BKRNERT

O TITANIM 7011/

LI T LT $
(=/=]=]—

Thermal Paste Applied Correctly Positions.
EZ] Using Appropriate Amount Of Thermal Paste.

[ 1 MM THERMAL PAD

ET24/RREKAE - BRERKETEBRIN BeRERKMEREHSTHAER -

A Before fill in water,please make sure all the component be installed correctly,
avoidingleaking happen and destroy the PC component.

/\

AR - KA - BERIAMASHERREERNMEE - £FFEN - BFKRNERT
HIT24/NNEEKINE - RRERKIEREETEN - BRRERKNS KBRS HAIRA -

V2/%8 ZhR



